Unit Vectors WS Name
2020

Write each of the following as the sum of unit vectors; also, find the 'magnitude and the direction of the vector.
Round your answers to the nearest hundredth.

1. Initial point: (*3, —5) ; Terminal point: (5 1)
Vector as sum of unit vectors: Magmtude Dire&ion: ( &
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2. Initial point: '(-—3, .11); Terminal point: (9 40)

Vector as sum of unit vectors: Magnitude: Direction:
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3. Initial point: (-—-—4.2, 5); Terminal point: (3.7 -—12.9)

Vector as sum of unit vectors: Magmtude Direction'
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4. Initial point: '(1 .64,7.2 1)"; Terminal point: (—2.33, 3 .86)

Vector as sum of unit vectors: Magnitude': Direction: g, 9 (=N
/ e ’/ = . - / sf; 2 €7 -5;:;;5’ % L{
4 : “ i = 2 = An B ——— e &
<ﬁ2“’%‘7 MEF {:? % é = ""?ﬁ-}fm E ? e ?, / = q fm Eﬂ_ @ %‘;&zﬁfg i\ ;Erﬂ ﬁ? r}- ’;f o D k 6
R g \ () H(-345)
i 31 W ,r L, !'ﬁ? £‘ / ‘ Gy . &
/ / / - - ~ R -' - j{? ‘i‘: .- oy ’fi&
= ;3, N "'g""-;';\ Ve By !::mi } 7 A v ' | T s
}*V}'}%\ oG Fﬂj% E' / “““““ ! Q
R g ol B 5o 2, 00 WAL
— : — - i R :
Answers:
1) 8i+6/: |13|| ~10; §=36.87° 2) 121 +297; ];'l ~31.38; §=67.52°

3) 7.9i-17.97; |v|=19.57; 9=29381° 4)-3.97i-3.35j; |v|=5.19; 6=220.16°




For each of the following, find:
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S)a) (-33,-15) B (6515)~  6)a) ~i~11j b) ~1.5i+3.5;
7)a) ~12i+65; b)6i-145]  8a)(~12,7) b)(2,-15)

b)
9) (1,0) 10)< { \/2_> 11) <_§_?___1__2_> 1) 27 3_}': 13) _‘/_5.}" _2\/5}- 14) —i




